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12X (5+9) 12X (30-5)
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(O+0)XA=O0XA+OXA. (O-0)XA=OXA-0OXA®D
HEnTFIYE2E->THEZLILL I,

(24+2) X5 (9—-3)%X12
(7+13)x17 (13-4) %6
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(7+8)x 12 (10-3)x13
(16+9)X3 (8—2)x25
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(174+6) %7 (10-3) %38
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(O+0)XA=O0XA+OXA. (O-0)XA=OXA-0OXA®D

HAHROTIVEFES>TEHEZLIL L D,

(25+ 17) X4 =25X4+ 1T X4
=100+68
=168

(11+4)X6=|1X6+4X6
=66+24
=90

15X (124+8) =15X 2+ 15%X8
=180+ 120
=300

4X(254+31) =4X25+4X%X 3|
=100+ |24
=224
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(25—T7) X4 =25X4—"T X4
=100—28
=772

(12—=3)X12=12X12—-3X%X12
=144—36
=108

5X(24—10) =5X24—-5X%X 10
=120—50
=70

25X (10—4) =25X 10—25X%X4
=250— 100
=150
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(16+7)X8=16X8+7X8
=|28+56
= |84

(24+ 13)X5=24X5+|3X%X5
=120+ 65
=185

12X (5+4+9) =12X5+12%X9
=60+ 108
=168

3+(14+35) =3X14+3X35
=42+ 105
=147
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(15—4)X6=15X6-4X6
=90-24
=66

(9—6)X8=9X8—6X8
=72—48
=24

12X (30—5) =12X30—12X5
=360—-60
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22X (8—3) =22X8—22X%X3
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(16+ 14)X4=16X4+14X4
=64+56
=120

(13+8)X16=13X16+8%X16
=208+ 128
=336

X (254+12) =8X254+8%X |2
=200+96
=296

25X (1243) =25%X12+25%3
=300+75
=375
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(13—9)X8=13X8—-9x%x8
=104—-"72
=32

(32—6)X5=32X5—-6X5
=160—30
=130

18X (20—2) =18X20—18X%X2
=360—36
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I5X(10—8) =15X 10— 15X%X8
=150—-120
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(I5+7)X6=15X6+T7X6
=90+42
=132

(14+4)X15=14X15+4X 15
=210+60
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23X (8+3) =23 X8+23%X3
= 184+69
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EX(16+12) =8X16+8%X 12
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=224
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(16—4)X13=16X13—-4X%X13
=208—-52
=156

(28—7)X3 =28%X3—7%X3
=84—-2|
=63

|16 X(8—5) =16X8—16X5
=128—-80
=48

3X(26—12) =3X26—3X%X 12
=78—36
=42
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(244+2)X5=24X54+2X5
=120+ 10
=130

(T+13)X1T7=TX 17T+ 13X 17
=119+221
=340

IxX(54+16) =9xX5+9x 16
=45+ | 44
= |89

24X (7T+3) =24 XT+24 X3
=168+72
=240
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(9—3)X12=9X[|2—-3X%X12
=108—36
=72

(13—4)X6=13X6—-4X6
=78—24
=54

5X(23—8) =5X23—5X%X8
=115—-40
=75

18X (15—-3)=18X15—-18X%X3
=270—54
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(324+ 13) X4 =32X4+13X%X4
=128+52
=180

(124+45)X18=12%X184+5%X 18
=216+90
=306

12X (12+7) =12X 12+ 12X7
=144+ 84
=228

3X(31+26) =3X3|+3X%X26
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=171
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=78-36
=42

(9—3)X17=9%X|7—3X
=|53—5]|
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25X (20—7) =25X20—25X%X17
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(74+8)X12=TX2+8X |2
=84+96
=180

(16+9)X3=16X3+9x%3
=48+ 27
=75

5X(15+25) =5X15+5X25
=75+ 125
=200

28X (2+5) =28X2+28X%5
=56+ 140
=196
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(10—3)X13=10X13—-3%X13
=130—39
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(8—2)X25=8X25—2%X25
=200—-50
=150

4X(14—8) =4X|14—-4X8
=56—32
=24

5X (28— 16) =5X28—5X 16
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=60
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(17+6)XT7T=17XT7T+6X7
=119+42
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(12+4)X24 = 12X24+4X24
=288+96
=384

3X(374+22) =3X37+3x%x22
=||1+66
=177

15X (64+18)=15X6+15%X18
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=360
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=80—24
=56
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